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ISubject Combined Graduate Level Examination Tier | 2022

Section : General Intelligence and Reasoning
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Question ID : 26433065984
Status : Not Answered
Chosen Option : --

S} T SRt & W

FX B Al TE 71)
(17, 59, 625)
(8, 44, 784)

Ans X 1.(24, 70, 576)
2. (12, 69, 2025)
X 3.(22, 78, 784)
X 4.(18, 74, 1296)

Q.2 I Y=Y P TG S RraH F=mg oy § 33t weR defta & O vor fafufad

bkl

(Fite: TE3i P 3P g 3! H fquifora fore famn, yof Temait w nivrdig dferars &t
ST TR | ITeRvT & Y 13 - Kty Tferant S % SisAIge AN ST 3ifs 13
¥ foraT ST gHa1 81 13 BT 1 3R 3 H FAUTRIG %1 3R fhR 1 3R 3 wR Wiy dfsrame

Question ID : 26433082545
Status : Not Answered
Chosen Option : --




Q.3 fywel # foar mar a1 w1 sieR-uge Frafif@a Sear & vafig (2) & R W s
S@ar &) guf B[
IR, BY, UF, NM, GT, ?

Ans X 1.ZB
X 2.YB
& 3.ZA
X 4. YA

Question ID : 26433067273
Status : Answered
Chosen Option : 3

Q.4 faw Ty 3 fEl &t 3w § IR geaq W Fafafad & @ s a1 aftewor w8t T8
Ans X 1.18+46-6+3x3=6

X 2.6x9+3-24+8=2

P 3.7x8+4+2-6=49

X 4.18+2x6+3-7=50

Question ID : 264330105126
Status : Answered
Chosen Option : 3

Q.5 ©w fAfia e uraT & "APPRECIATE' %1 'ETAICERPPA' & &1 ¥ forar wiran g,
'MOTIVATION' B! 'NOITAVITOM' & U ¥ for@m Sirar 8 1 SHY HT9T & 'FRIENDSHIP' $Y
o yor e sream?

Ans X 1. PIHSDNIERF
/< 2. PIHSNDEIRF
/< 3. PIHSDENIRF
«” 4. PIHSDNEIRF

Question ID : 26433068236
Status : Answered
Chosen Option : 4




Q.6 zdor & TR ‘AR R @ §, BT aw R & v arer W adur afafe @ wwe S

Mg =
A

g
B\
T
B\
g
U
LT
~ 0

Question ID : 26433070438

Status : Answered

Chosen Option : 1




Q.7 frafifd IR sier-agE # | 99 freh i 78% J 70 € ok 1P S R B
BRI SHER-TYE HT 999 B |
Ans X 1.UGS

 2.CXA
2< 3.NNL
< 4. JRH

Question ID : 26433069003
Status : Answered
Chosen Option : 4

Q.8 fmfafa witeo o agt [@gime) w37 & forg i f nivrda gl eiv of Temsit ot
MUY § ST ghm?
13-65+45x21+2 =82

Ans X 1.453R 21, x 3R +
7 2.65 3R 13, x 3R +
o 3.45 3R 13, x 3R +
X 4.45 3R 13, - 3R +

Question ID : 26433068680
Status : Answered
Chosen Option : 2

Q.9 TH 3 faar T B, ForH | ' g g 81 e e fawenl # @ a8 9%l fawew g, st

3T Bt R PRI
ABCD, CUKA, ENSX, GGAU, ?

Ans X 1. MNOQ
X 2.1RQT
< 3.1QRT
& 4. 1ZIR

Question ID : 264330104823
Status : Answered
Chosen Option : 4

Q.10 Fgfifaa # ¥ o1 W@ e < 7€ 3oft § uufg (2) F ™A w e
12.8,13.5,14.9, 17, 2

Ans X 1.18.9
X 2.205
X 3.195
o 4.19.8

Question ID : 26433067872
Status : Answered
Chosen Option : 4




Q.1 TEmsi ¥ fAuw T &1 7 S| (AT 3: TS B 3P T Sidt A fauifira fee
T, qof wemasit w fpant fArefed &t ol Tnfde ] Serevur *13" - 13 W Hihart o9
1% 13 ® SiA/aeHIATUN HeAT 31fe far S w@ar 31 13 &1 18R 3 § dis ok ok
57 1 3R 3 W IKfrT wfpaTd St ot srgafa w1E B)

Ans 7 1. (17 -51-147)
X 2.(22-66-198)
2 3.(10-30-90)

X 4.(15-45-135)

Question ID : 264330105081
Status : Answered
Chosen Option : 1

Q.12 us fAfid % 41T #, 'LABOUR' &Y 'XZSECM' foraT SITaT @ iR 'GAINED' #Y 'JURLCH'
e SiTaT 8 1 S HTST 7 'EARNED' ®1 4 forar s

Ans X 1.KJRVCF
< 2. FCVRW
< 3. JIRVCF
« 4. JJRUCF

Question ID : 26433066020
Status : Answered
Chosen Option : 3

Q.13 I famey &1 T B i TR g & I UPR Fefia 8 R TR goRT s uga
TTeg | it @1 (Rreat Bt erdfyuf & wrsgf & = H | W Wity ok weg
:gﬁmﬁm%aﬂm%mmww@ﬁmﬁaqﬁﬁmmm%m

: ST ?

Ans X 1.giy
K 2. SHAT
o 3. AIfSId g
X 4. foaen

Question ID : 26433067816
Status : Answered
Chosen Option : 3

Q.14 Select the word-pair that best represents a similar relationship to the one expressed in
the pair of words given below. (The words must be considered as meaningful English
words and must not be related to each other based on the number of letters/number of
consonants/vowels in the word.)

Cattle : Herd
Ans ¢ 1. Sailors : Crew

/< 2. Player : Class
< 3. Pupils : Team
< 4. Soldiers : Colony

Question ID : 26433068015
Status : Answered
Chosen Option : 1




Q.15 3T 7T WGl HY AN AGHIN F HTAR AT HIA F UYT, S AT g WA VI
W M2

1. Aquarium
2. Aquatic
3. Aquarial
4. Aquatint
5. Aquavit

Ans X 1. Aqurial
25 2. Aquarium
«” 3. Aquatic
/< 4. Aquatint

Question ID : 264330104905
Status : Answered
Chosen Option : 3

O s fe Y 3 T A, S A & wE sy F ahwha ¥
(T = g $ Aty T )

Ans

|I b

x4 [I'L/
|
|

Question ID : 26433068854
Status : Answered
Chosen Option : 2

Q17 gqmwﬂﬁﬁammaﬁaﬁwmﬁw,ﬁaﬁ@aﬁﬁﬁqmmaéﬁﬁ

+dYT—, 3TUT5
Ans  1.5-3+8x%x4+2=10

X 2.5%x4+3-6+2=10
X 3.7x4:2-5+3=12
X 4.5x4-3+4+2=15

Question ID : 264330105141
Status : Answered
Chosen Option : 1




Q18 T a1t Redt & ¥ 30 3pfa &1 9 = Fe wpfo-gEer #
TeARIET (?) ¥ TUW T AT FHaT 22

Ans

O|Q|D

?

b
SIS

D

OO

Question ID : 26433080510
Status : Answered
Chosen Option : 1

Q.19 I APy H1 99 HY &l Uied! GBI | W 7eR F6fid § for ver gl Ten ugedt

Ans

@ 9 Gt 2 ofv 9t ven st ven @ w6t 2

4:61::9:726::6: 7
< 1.356
X 2.242
/< 3.316
 4.213

Question ID : 26433067651
Status : Answered
Chosen Option : 4

Q.20 39wy # 9 By Ay 1w ¥, s a1g &7 fsed 1, 1 3k feg 1w €1+ #Y 7w
A §Y, WA €1 @ wdga at § e wedta g g, ke i 6 e-ars fAreed syt

Ans

P1 difchd T | SIHERVT BT /3T Hd &

DY

Wl IR AT EI

PO AR P8I

N FA wa g

foren: .

. T8 B I

Il. TO AT FA §l

. $3 TR Bd B
1. T e SER v B
X 2. Fad sy | 3R 11 SFER0 B B
2< 3. Faa fIsh 11 3R 111 STERT R B

X 4. Fad Frshs | 3R 111 SFER0 B B

Question ID : 26433070404
Status : Answered
Chosen Option : 1




Q21 39 F1 99 B R TBmg amuw # It yeR wafta § v ver Fafifea
S e et 1
(Fite: Tl F IuF geP it & il fg fam, gof wemnsei w nirhy wfearg #t
ST A1feT | IeTeeur & Rrg 13 - MMy wHikaTy S i StsTae Ao ST s 13
T forar o warar 81 13 H1 1 30 3 & v w1 3k 67 1 3R 3 W nifvrdia wifdrarg
HTA o1 A T 2 1)

(5, 98, 9)
(10, 168, 14)

Ans X 1.(7,108, 23)
X 2.(15, 248, 19)
 3.(1,28,3)
< 4.(3,88,17)

Question ID : 26433068381
Status : Answered
Chosen Option : 4

Q.22 3 RT Ty § $© BYT 3R I a8 3 HYI W 31Uia oo frepd g 1w ¥ Ry
T FY! B T A, YA & STH ITATIG: Fia a2 § firerar g1 39 freed v ik fw
fruifea o3 i F19 § forepd, RT 7T Fy=1 &1 aifde 0 F SFERU HA 81
HY:

IQWLZ%%I
IL$SL TR
o

Lz, L gl
NPT, ZTE 8l

Ans 1. B ot e srgERor T8 HRaT §
X 2. Pad frsh | 3TER BT §
2< 3. 1 FISh | T 11 3SR R §
X 4. Had fspef || 3R HRaT ¥

Question ID : 264330104913
Status : Answered
Chosen Option : 1

Q23 e & g H AT HeEr-verET EufoAr # wrr (et 1 # 3) T
21 '6' 1 aF F A9lT Fold W #EAr A9 i

Y QY

figure 1 figure 2 figure 3
Ans X 1.4
& 2.5
% 3.2
X 4.1

Question ID : 26433070249
Status : Answered
Chosen Option : 2




Q24 'A@B ®T3AY A, BT UM I

'A&B PTATE A BIHIAATEI

A#B BTHIE B, AR
IRF&G@H#I@JE MG, J A FTUpR Hafta 82

Ans X 1.7F
< 2. fuan
o 3. R
X 4.4

Question ID : 26433068461
Status : Answered
Chosen Option : 3

Ans X 1.P+Q+R
X 2.P+RxQ
X 3.PxQ+R
& 4.P+QxR

Q25 gRAxBHTITRTH A BHTRATE, A:BHTAIR P A B U, A+BHTIHS R
& A, B 3T UTE 2, i Fraferfad & & o1 a1 oivie g Aefid sear g, i p, R St ardi 22

Question ID : 264330104992
Status : Not Answered
Chosen Option : --

Section : General Awareness

Q.1 WTeede HT A TH 1 32
Ans o 1 TiREm aEde

% 2. ds gethe
2 3. U HRe
X 4. TSR

Question ID : 26433086753
Status : Not Answered
Chosen Option : --

Q.2 A 2022 # fFafafEd & & $19 voe & gerE e
Ans X 1. dTcold Rig YR

7< 2. 9d T Perddad

& 3. WIad "4

X 4. pad Rig urcliara

Question ID : 26433054557
Status : Answered
Chosen Option : 3

Q3 |t 3= T o wfaem g 1
Ans 1 diEdifEe

2 2. FATATEHD

< 3. gl

K 4. e

Question ID : 26433086761
Status : Answered
Chosen Option : 1




Q.4 frgfafad # & e wM w® =] Sl Fx R 82
Ans X1 FEIDICT
X 2.TR$S
X 3. ercuret
4. BIHAR
Question ID : 26433089217
Status : Answered
Chosen Option : 4
Q.5 3wy e Jaw S T URda FRYS! Td® 4, B 1998 § fFmfif@a & @ si=-ar
REPR e ur?
Ans 1 TSI HEOl
X 2. gt
X 3. TR TR
X 4. wE faywuoy
Question ID : 26433090699
Status : Not Answered
Chosen Option : --
Q.6 i@ & | FI A1 FYH uRIFRm 3R YfAr-erge™ & w<ed o gt 82
1. wrRIf&raT g sreron gy Tt 7S <
I1. TSI UT: ST BT Y e | Rpd H3d & S 16 T3 W ifHffEd g1d A
Ans X 1.%adll
Xoagaa
3. | TN EA
X 4. Fad|
Question ID : 264330105407
Status : Answered
Chosen Option : 3
Q.7 fyferEd & 3 vahms A Gaita 98 $Yq FI9 A1 82
Ans X 1. TSN A Sl SR eIt & ot W Ty o A
X 2. TN A 3aaSHI Bl @Il BT 2|
o 3. TS 3 TRATLST 3R Sruait & g e Ty foar o)
2 4. TANTIRY 3 Siq 3R UTeU BT 7 SicR Y W b At
Question ID : 26433066675
Status : Answered
Chosen Option : 3
Q.8 fmfifaa o | fra IR 229 Ayisd Gl BT S far s
Ans X 1. 3ficferar
2. 508
< 3.9
2 4. YRd
Question 1D : 26433071376
Status : Answered

Chosen Option :

1




Q.9 1931 &, fram a1 i U Jrifta e A saaei-l & Sie 3 vw fawy e gt
e, ford frdta =4 @ 4n+2 (n = 0,1,2,3 31fe) & =u A foram &1 Gpa1 22

Ans X 1. S S e
X 2. R ARe
3. A &hd
X 4. @ AR

Question ID : 26433064068
Status : Answered
Chosen Option : 4

Q.10 PFHier P AY P I IS FNAITCHE, A UETw«rgl
Ans X 1. A gRRIE

X 2. AR a

< 3. I 9geER 9+

4. SUBICIT YaTTER I

Question ID : 264330105637
Status : Answered
Chosen Option : 4

Q.11 Pl § @ Si-ar dde a8 T8 82
Ans X 1.3 39 - STRIES

X 2. faewr 2fia - siifszn

X 3. g - HAR

4. IS A - TERTY

Question ID : 26433064202
Status : Answered
Chosen Option : 4

Q12 Pofifaa 3§ & fFg WM 1R 96-U1F (tak tok) ST HIT ST 872
Ans X 1. TGS

X 2. om

X 3. gy

o 4. TR

Question ID : 26433071695
Status : Not Answered
Chosen Option : --

Q.13 2011 F} FTUFT F AR, TES BT 97 e ufa af faht 31
Ans X 1.362

 2.382
X 3.412
X 4.392

Question ID : 264330105527
Status : Answered
Chosen Option : 2




Q.14 fafafae & | fFam sigdiae® sfiuwre IRRmAT 3R feRae® g9 Yuor HTaRT & Y
IR U SI-AY UeaH, "Bid 3ATE § I (1967) BT fAwtor farar 412

Ans X 1. gl
X 2. TR0 e
3. RiagpaR
2 4. Yo A

Question ID : 26433054846
Status : Not Answered
Chosen Option : --

Q.15 ;‘rjnsrzozz ¥, $% WPR gRT i & 3 fra 3gxa & g sifiay aem 3= 31 18
?

Ans X 1.9 AT & HHDI DI AN JfAUT Juasd BT
2 2. T2 el &1 Jod 3R gAaRh e
X 3. R Awedl & SN BT B T
4. T gat o garsft &t uff

Question ID : 264330105300
Status : Answered
Chosen Option : 4

Q.16 e IeT TP A ST TR S=orET Smaiford s &1 fAofg ferar & v/ wifa sy
TUFT YERT 8T T2

Ans X 1. B
X 2. qE Uy
X 3. ISR

4. TR

Question ID : 264330105255
Status : Answered
Chosen Option : 4

Q.17 ST A VS A MR, A TPad__ wgrwmar gl
Ans 1.3

X 2,944

X 3.4

4.y

Question ID : 264330105160
Status : Answered
Chosen Option : 4

Q.18 Fiea gita ot ¥ 3 fra woa & fRa 82
Ans 1 TS

X 2.9

X 3. PlcH

X 4 dffreETg

Question ID : 26433066521
Status : Answered
Chosen Option : 1




Q.19

It B¢ A 18 JaTS, 2022 Fi U+ IR

3 JqIfe® HeHaTSH § IqH AfRA H

AT fIaRY $ g & [T T o7 dUR S &1 e faan| gg fofy 59 eifter

&Y Ao & SfYPR & YN & U § Ar=gar 31 & fore forar mar ure?

Ans o 1. W T BT SRBR
7 2. 5 BT SRBR
2 3. T & fqueH &1 SfiBR
7< 4. 4 BT U B BT MABR
Question ID : 264330105235
Status : Answered
Chosen Option : 2
Q.20 4 ®, Wa UTeahat S F T1G ATAT 3P SHiddl 8 df THR FT giaT 82
Ans X 1. Usdice 34
2. TSdeH 33T
< 3.40-30
2 4.30-40
Question ID : 26433059442
Status : Answered
Chosen Option : 3
Q.21 @t fore wRdta =g @ WEft o 9 T3 87
Ans X 1.f¥ER
 2.7dl
X 3. AT U™
X 4 Ul S
Question ID : 26433054321
Status : Answered
Chosen Option : 2
Q.22 YRA B 3F aF P! Ja§ HIHS e smuersii ¥ } ve sienfie smuer foziax 1984
1 e ® Frafafaa § 3 e sram A g82
Ans o 1. g0 FE1ES
X 2. TNRS
X 3. YR WA fafics
< 4. guiwa. (uPL) fafies
Question ID : 26433064519
Status : Answered

Chosen Option :

1

Q.23 fafafed # & 71 yRdta Reid 8% gR1 Ga TR & wHare 3 9§ U 37

Ans

1. G TOR H PR gRI IR Fis] 31 @G IR foept

X 2. Gd 99R # WHR gRI 6] §iS| &1 bad @l

X 3.9 99R # WHR gRT SR} SiS| B baet fashi

X 4. QA IR § qivifoes It gRT St afs! &1 @die SR fash!

Question ID :
Status :
Chosen Option :

26433082233
Answered
4




Q.24 SRR BT o ST 4T AT

Ans

X 1.1774
 2.1764
X 3.1757
X 4.1767

Question ID : 264330105559
Status : Answered
Chosen Option : 2

Q.25 {5 IACE P HI AT "FEHH" TSP BT SUANT B I18 wreit A2

Ans

o 1.9d
X 2. Uy
X 3. AR
X 4T

Question ID : 264330105442
Status : Answered
Chosen Option : 1

Section : Quantitative Aptitude

Q.1 UP 9 240 3NSIRY F1 BTeA & 10 U BT THT Al &1 25 ¥ H I8 fraq ioRl &1
Preft?

Ans X 1.480
5 2.550
«” 3.600
54,360
Question ID : 26433065086
Status : Answered
Chosen Option : 3
Q.2 g .
P _ 232
I m+—=4Fd (m-2)*+ gz T A A HIfaT
Ans 1.2
K22
K5 3.4
K40
Question ID : 26433075838
Status : Answered
Chosen Option : 1
Q3 tan27°tan34° + tan34°tan 29° + tan 2 9° tan 2 7° FIATT AT HTAT
Ans X 1.0

& 2.1
< 3.1
X 4.3

Question ID : 26433063829
Status : Answered
Chosen Option : 2




Q.4 T g ot e 5 A+ 81 59 79 A a1 AB P a1g 6 SR B I ST St quF F5 &
frait gdt 82

Ans X 1591
X 2,89,
7 3.6,
4. 471

Question ID : 264330105837
Status : Answered
Chosen Option : 4

Q.5

3_b3 b
o a=26dRb=2F FE 2 D gmam_ ¥
a*—b a+hb
Ans 11
13
1

V23

< 1.

13
X3 =

11

5
4. —
x 3

Question ID : 26433083086
Status : Not Answered
Chosen Option : --

Q.6 Tfe AABC~AEDF 39 UK & fF AB = 6 cm, DF =16 cm 31 DE = 8 cm, dl BC & @a1g
1 Biforel

Ans X 1.10cm
/5 2.8cm
/< 3. 14 cm
o« 4.12¢cm

Question ID : 26433074481
Status : Answered
Chosen Option : 4

Q.7 U UL P e FY g 20 cm Wl 1 G 8 a.m. W YT 8:45 a.m. F a9 e 1 T3
R YA T U1 & T T 46 I BIrerg|

Ans 6600 2
g1. — cm
7

6600 5
X2 ——cm

6600
X3 — cm?

14

6600 5

4, —— €M

x 18

Question ID : 26433081297
Status : Answered
Chosen Option : 1




Q8 frw arw &3 3w F y-3E G I AT B wEAT F v A ¥ R far o & ¥
3y v qifae i @fie 1 a¥ x-3187 97 g T

90 ¥ 84 85

80
70 +
60
50 +
40
30 4+
20
10
0 4

; ; ; ; X
2011 2012 2013 2014 2015 2016

¥ 2012 HT OigeT, AT ST ol Aol safeadr dr ST FEr F §?
Ans X 1.70

X 2.62

& 3.72

< 4.60

Question ID : 26433080142
Status : Answered
Chosen Option : 3

Q.9 TP AR TP §F A 10% TS AR TS W Rs.1,00,000 IYR AT § 3R Ui auf &
FUT BT YA a1 31 A BT o & 1T ugd, g, AR ok Y af F oid & yrar
1 715 fP¥ HH: Rs.10,000, Rs.20,000, Rs.30,000 31X Rs.40,000 3, Tt BT g & g
Ured avf & 3 A fraeit i1 &1 Y faran s @y

Ans 7 1.Rs.39,490
X 2.Rs.38,250
/< 3.Rs.40,450
X 4.Rs.36,450

Question ID : 26433075473
Status : Not Answered
Chosen Option : --

Q.10 e iy fe A 30% TP g&r B, O TP 1Y S Hd §U, d IF BRI B R A | fban
Tag oA, RO 3ie] ardat 23 faY A qRT % et i

Ans & 1. 13 ﬁ:[

3
x2 = faq
&Y 17

x311 f&q
x4 15 f&q

Question ID : 26433075892
Status : Not Answered
Chosen Option : --




Q.11 TP A1PT 8 Ue § YRT F1 faudia fa=m & 25 km 3R 4RT H1 f3zm & 39 km Terdl 8178 11
e T yRT B faudia fa=m & 35 km SR URT A 3= & 52 km &Y g8 79 Tl 1 afe we
TP T A1 I T Bl €, df YRT BT I1e qarsa|

Ans X 1.6 km/h
< 2.5km/h
% 3.3km/h
& 4. 4kmh

Question ID : 26433091938
Status : Not Answered
Chosen Option : --

Q.12
?TFCISX—3+6=[} %’.f‘ﬁxz+:—z =7

Ans [:7

1.
25

81
<2 —

10
86

X3 —

11
43

xa =

12

Question ID : 26433075427
Status : Answered
Chosen Option : 1

Q.13 T gapTeR fAufif@a fi9 wial &Y 9o S 8|
YT : 15% 3R 25% BT G BIAP Fe
YT : 5 TR, 3 U UTg
WM : 4 WS, 6 UTY
ITEeh! & forg Jad st WA B0 22

Ans X 1. T |
X 2. % M- mit g €
2< 3. W -l
4. -l

Question ID : 26433075191
Status : Answered
Chosen Option : 4




Q.14 3 & ¢ ARt v ufa 9wl § & 330 3 GDP P g B
aor
I | A | B
Y1 | 175 | 285
Y2 | 200 | 300
Y3 | 150 | 125
Y4 | 75 | 85

X¥a | 50 95

k1 = 9+t uf aui & 321 A BT 3T GDP FT A
k2 = 3t uig qut & 327 B F} 3T GDP T AH|
(K1 + K2) T | 182

Ans X 1.316
& 2.308

< 3.290
X 4.178

Question ID : 264330105755
Status : Answered
Chosen Option : 2

Q.15 14 m & AMYR-AT 3R 9 m B! fode H=ms arat fH<d TwreR & & TM & e 2m Ft
e aral foha) Hiex U Y naxa®dr gnlt, afe eraeay wY vy A R we?

Ans X 1.77m
/5 2.88m
& 3.99m
5 4.66m

Question ID : 26433063907
Status : Not Answered
Chosen Option : --

Q.16 31 YBT3t T HEWH GHTIGAS (HCF) 21 § 3R SPT AYwH JHTIGH (LCM) 840 81 Tf
T T TP HET 49 €, Y g HE@ 1 ghit?
Ans 7 1.360
% 2.540

X 3.810
X 4.650

Question ID : 26433079826
Status : Answered
Chosen Option : 1

Q.17 T G=A13i BT 3N 3.52 81 379 A &1 BT 3 3.7 €, SalP 37 & BT 3T 2.5 81 AW
QY g3l &1 3iad fpa-n 87

Ans X 1.37
& 2.4.36
X 3.352

X 4.25

Question ID : 26433072996
Status : Answered
Chosen Option : 2




Q.18 2
TfE cosecd + cotd =p, Tl 2 _: HIAFA___ ®I
p +

Ans X 1.cosecB
«” 2. cosb
/< 3. cotd
5 4. sind

Question ID : 26433075286
Status : Not Answered
Chosen Option : --

1% S cos 24 cos 2B + sin}(A— B) — sin?(A ~ B) B A HI GFII?
Ans X 1.sin (2A + 2B)

7 2. sin (2A - 2B)

«” 3.cos (2A + 2B)

/5 4. cos (2A - 2B)

Question ID : 26433061939
Status : Not Answered
Chosen Option : --

Q.20 35460 T I FTA DI TBAT SIS ST AR AP TTES 3, 4, 5 3R 7 gRT Qular:
Ryt g

Ans X 1.420
X 2.180
o 3. 240

X 4.84

Question ID : 26433062624
Status : Answered
Chosen Option : 3

Q.21 A ABC #, D 3R E T4 fig § &l AB 3fR AC W 39 Yo € f% DE Il BC 1181 afd AD = x
+3,DB=2x-3,AE=x+13REC=2x-2 MW x BPTAM&:

Ans 1
x’].g

3

,/2.5

4

X3.5
<4 2
2

Question ID : 26433080232
Status : Not Answered
Chosen Option : --




02 Dofifad aifier U Sar § [Aaifial & §g ol & de & i 2

dd | fqepidarf
Bl @
10 ¥ &H 2
20 9 HH 5
30 9 FH 6
40 9 4 8
50 ¥ & 10
foam faenfiar 3 20 iR 30® 9 3w U few
Ans 7 1.1
X 22
X 3.6
X 4.5

Question ID : 26433095015
Status : Answered
Chosen Option : 1

Q.23 FRTEE # TP AISHIAT 3G Rs.M F AT 11T 2 | TP Qa1 faspelT, SaTE} faerare @
ST 47 3R 5 25% HH & W (9 FSRI1E I FIAd A g1 31 A1 8) | 98 59
TE § FeR1E1E A & o1 uRae IR Rs.1,000 T BT 81 U 54 3eR161S # Rs.M &
¥ o 3R 10% &1 @1y 3R faT M &1 7 (Rs. #) F1d Siv@)

Ans X 1. 6,258.8
X 2. 6,305.8
X 3. 6,527.9
o 4. 62857

Question ID : 26433075908
Status : Not Answered
Chosen Option : --

Q.24 TP TG & $U-Yed 3R fIHT-TT BT 3T 10 : 11 1 A1 WiA=rd J1a S|
Ans X 1.8%

X 2.5%
< 3.15%
 4.10%

Question ID : 26433063467
Status : Answered
Chosen Option : 4




Q.25 i3 & 7S TiftreT T af A, ot I A Rign & g awie smad= B g=id 21

Ans

=T | g3 HTEe
D 225
E 75
F 250
G 425
H 535
Toft I A Rienm & R g aeie sirde fpa-n 82
& 1.1510
7< 2. 1280
% 3.1620
< 4.1705

Question ID : 264330105748
Status : Answered
Chosen Option : 1

Section : English Comprehension

Q.1 Select the most appropriate meaning of the given idiom.

He's sitting on the fence

Ans X 1.He can't hide himself
% 2. He can't stop trying
«” 3. He can't take a decision
/5 4. He can't do anything seriously
Question ID : 26433070651
Status : Answered
Chosen Option : 3
Q.2 The question below consists of a set of labeled sentences. Out of the four options
given, select the most logical order of the sentences to form a coherent paragraph.
P. Honey ants are common in deserts and other arid climates around the world.
Q. They are part of the “worker” caste of honey ants.
R. Other castes include soldiers, who protect the colony from predators and the
queen—usually is the mother of all other ants in the colony.
S. Only some honey ants become “living larders”.
Ans 7 1. PSQR
X 2.RPQS
/< 3.SQRP
X 4.RSPQ

Question ID : 264330104716
Status : Answered
Chosen Option : 1




Q.3 Select the correct spelling of the underlined word from the following options.

He deceaved the fraternity by the news of his unparalleled accomplishment to
accommodate himself in the academic field.

Ans X 1. desieved
5 2. deseived
/< 3. decieved
«” 4. deceived

Question ID : 26433061046
Status : Answered
Chosen Option : 4

Q.4 Parts of the following sentence have been given as options. Select the option that
contains a grammatical error.

The meeting was held upon / for an hour / due to non-availability / of the committee
members.

Ans ¢ 1. The meeting was held upon
< 2. for an hour
< 3. of the committee members.

< 4. due to non-availability

Question ID : 26433073833
Status : Answered
Chosen Option : 3

Q.5 Select the sentences that contains no spelling errors.
Ans X 1. Anxiety is one of the most insicdious conditions affecting the mental health of an
individual.
/< 2. Anxiety is one of the most insidyous conditions affecting the mental health of an
individual.
«” 3. Anxiety is one of the most insidious conditions affecting the mental health of an
individual.
/< 4. Anxiety is one of the most insidiouos conditions affecting the mental health of an
individual.

Question ID : 26433070693
Status : Answered
Chosen Option : 3

Q.6 Select the most appropriate ANTONYM of the given word.
Cacophony

Ans X 1. Colophony
«” 2. Symphony
/< 3. Polyphony
< 4. Antiphony

Question ID : 26433070614
Status : Answered
Chosen Option : 2




Q.7 Select the most appropriate synonym of the given word.

Permeate
Ans X 1.Remain
«” 2. Diffuse
/< 3. Exude
/5 4. Continue

Question ID : 26433072195
Status : Answered
Chosen Option : 2

Q.8 Select the most appropriate option to fill in the blank.

She has her money and jewellery to help the poor.
Ans X 1.given way

«” 2. given away
/< 3. givenin
5 4. given up

Question ID : 26433074064
Status : Answered
Chosen Option : 4

Q.9 Select the option that can be used as a one-word substitute for the underlined group
of words.

My uncle is someone who loves good food and knows a lot about it.
Ans X 1. Culinary

/< 2. Connoisseur
/% 3. Chauffeur
«” 4. Gourmet

Question ID : 26433088615
Status : Answered
Chosen Option : 4

Q.10 Select the correct active form of the given sentence.
Before she came all the work had been completed by me.

Ans X 1.1 completed all my work before she came.
25 2.1 will complete all my work before she came.
/5 3.1 complete all my work before she came.

«” 4.1 had completed all my work before she came.

Question ID : 264330104593
Status : Answered
Chosen Option : 4




Q.11 Select the option that can be used as a one-word substitute for the given group of
words.

to give up completely or agree to forgo, especially in favour of another
Ans ¢ 1. Surrender
5 2. Waive
< 3. Forfeit

5 4. Cosign

Question ID : 26433066073
Status : Answered
Chosen Option : 1

Q.12 Select the most appropriate ANTONYM of the given word.
Jeopardy
Ans X 1. Precaution
X 2. Risk
/< 3. Danger
«” 4. Safety

Question ID : 26433060692
Status : Answered
Chosen Option : 4

Q.13 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

The audience has being / angry as the magician / is not performing / as expected.
Ans X 1. as expected
/< 2. angry as the magician
«” 3. The audience has being

< 4. is not performing

Question ID : 26433088158
Status : Answered
Chosen Option : 3

Q.14 Select the option that can be used as a one-word substitute for the given group of
words.

One who can speak two languages
Ans X 1. Trilingual
< 2. Multilingual
< 3. Monolingual
«” 4. Bilingual

Question ID : 26433060904
Status : Answered
Chosen Option : 4




Q.15 Select the most appropriate option to fill in the blank.
She couldn’t continue with a diet to reduce her blood sugar.
Ans X 1. practiced
/5 2. shortened
«” 3. balanced
25 4. maintained

Question ID : 26433074506
Status : Answered
Chosen Option : 3

Q.16 Select the correct passive form of the given sentence.
Uma told Susan to give up drinking.

Ans X 1. Susan has been told to give up smoking by Uma.
«” 2. Susan was told to give up smoking by Uma.
/< 3. Susan is told to give up smoking by Uma.
/5 4. Susan had been told to give up smoking by Uma.

Question ID : 264330104562
Status : Answered
Chosen Option : 4

Q.17 Rearrange the parts of the sentence in correct order.
Medieval people undertook
P. purify themselves of sin, to transform
Q. pilgrimages individually, travelling to
R. themselves through a trial of faith.
S. distant shrines as a penance to

Ans o 1.QSPR
X 2.QPRS
< 3.SPQR
X 4.PSRQ

Question ID : 264330104675
Status : Not Answered
Chosen Option : --

Q.18 Select the most appropriate synonym of the given word.
Answer
Ans X 1.Recall
/5 2. Remember
«” 3. Reply
X 4. Query

Question ID : 26433060888
Status : Answered
Chosen Option : 3




Q.19 Select the correct indirect form of the given sentence.
Renu said to her brother, “You were watching the show without me.”

Ans X 1. Renu told her brother that he had watched the show without her.
/< 2. Renu told her brother that he were watching the show without her.
< 3. Renu told her brother that he has been watching the show without her.

«” 4. Renu told her brother that he had been watching the show without her.

Question ID : 264330104607
Status : Answered
Chosen Option : 4

Q.20 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in
the correct order to form a meaningful and coherent paragraph.

A.She participates in several functions and musical shows and receives accolades for
her singing.

B.Vineeta has a very sweet voice which has inspired her to adopt singing as her
profession.

C.She can also play musical instruments such as the sitar and the harmonium.
D.Now, she has opened a music school to train young singers.

Ans X 1.ADCB
« 2. BACD
/< 3.DCBA
< 4. ACDB

Question ID : 26433072381
Status : Not Answered
Chosen Option : --

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

As writers we live life twice, like (1) cow that eats its food once and then
regurgitates it to chew and digest (2) again. We have a second chance (3)
biting into our experience and examining it. This is our life and it's not going to last
forever. There isn't time to talk about someday writing that short story or poem or novel. Slow
down now, touch what is (4) you, and out of care and compassion for (5)
moment and detail, put pen to paper and begin to write.
SubQuestion No : 21
Q.21 Select the most appropriate option to fill in blank number 1.

Ans X 1.any
< 2.some
 3.a
X 4.as

Question ID : 26433074367
Status : Answered
Chosen Option : 3




Q.22
Ans

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

As writers we live life twice, like (1) cow that eats its food once and then
regurgitates it to chew and digest (2) again. We have a second chance (3)
biting into our experience and examining it. This is our life and it's not going to last
forever. There isn't time to talk about someday writing that short story or poem or novel. Slow
down now, touch what is (4) you, and out of care and compassion for (5)
moment and detail, put pen to paper and begin to write.

SubQuestion No : 22
Select the most appropriate option to fill in blank number 2.

o 1.t

/X 2. away

& 3. afew

X 4. more

Question ID : 26433074368
Status : Answered
Chosen Option : 1

Q.23
Ans

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

As writers we live life twice, like (1) cow that eats its food once and then
regurgitates it to chew and digest (2) again. We have a second chance (3)

biting into our experience and examining it. This is our life and it's not going to last
forever. There isn't time to talk about someday writing that short story or poem or novel. Slow
down now, touch what is (4) you, and out of care and compassion for (5)

moment and detail, put pen to paper and begin to write.

SubQuestion No : 23
Select the most appropriate option to fill in blank number 3.

< 1. beside

o 2. at
/< 3. about

& 4.not

Question ID : 26433074369
Status : Answered
Chosen Option : 2

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

As writers we live life twice, like (1) cow that eats its food once and then
regurgitates it to chew and digest (2) again. We have a second chance (3)
biting into our experience and examining it. This is our life and it's not going to last
forever. There isn't time to talk about someday writing that short story or poem or novel. Slow
down now, touch what is (4) you, and out of care and compassion for (5)
moment and detail, put pen to paper and begin to write.

SubQuestion No : 24

Q.24 Select the most appropriate option to fill in blank number 4.

Ans

X 1. besides
5 2. neither
/< 3. above

” 4. around

Question ID : 26433074370
Status : Answered
Chosen Option : 4




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

As writers we live life twice, like (1) cow that eats its food once and then
regurgitates it to chew and digest (2) again. We have a second chance (3)
biting into our experience and examining it. This is our life and it's not going to last
forever. There isn't time to talk about someday writing that short story or poem or novel. Slow
down now, touch what is (4) you, and out of care and compassion for (5)
moment and detail, put pen to paper and begin to write.

SubQuestion No : 25

Q.25 Select the most appropriate option to fill in blank number 5.

Ans

X 1. little
75 2. both
«” 3. each

X 4. few

Question ID : 26433074371

Status : Answered

Chosen Option : 1




